Mounting instructions

SIDE STEPS AQM-T32 ANRII4AW D

)

T

|SIDE STEPS || ot e

MOUNTING INSTRUCTION COMPATIBLE FOR ALL THREE PRODUCTS

d = (AN RN
\ a%mman’n&_ﬁ%&

% s o O
\ b CY vl o W £ 0 T AN
] =

*VERIFY YOU HAVE ALL THE COMPONENTS BEFORE STARTING THE INSTALLATION.
REFER TO THE ENGINEERING DRAWINGS AT THE END OF THIS DOCUMENT FOR A COMPLETE

PARTS LIST*

, 160
ANm I %AW D Mount Instruction 6

RTINS Y (A NN NN
P00 S O R R VLY v LTI RSN ORARNORA
é\‘ A} & /A

2201TR-01




Mounting instructions
SIDE STEPS AQM-T32

A LIMERYD)

1. Mount Installation

]

|

Go to Index

2201TR-01

A LMEAYES)

160

Mount Instruction



Mounting instructions

SIDE STEPS AQM-T32 PAANRII4WID
z=-)
Go to Index |52
2. Mount Kit Q
Designation Name Q'ty
L 4 pcs
R 4 pcs
=
160
Mount kit




Mounting instructions

SIDE STEPS AQM-T32 A QMEAVE D)
z=-)
3. Bolt Kit Gotondex [
Designation Part No Name Spec. Q'ty
Bolts DIN 6921 (M10X25) 8 pcs
Bolts DIN 6921 (M8X25) 8 pcs
Bolts M6x30 16 PCS
Nuts DIN 6923 M10 24 pcs
Nuts M6 16 pcs
g} U Bolts Amarok Special M10x45 8 pcs
@ Washer M8 16 pcs
S
¥ e, | e
160

Mount kit



